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100 Questions

Que.1 Read the passage and answer the questions. Some words may be highlighted. Read carefully.

Technology. Whether you find that you embrace every new update, or struggle to keep up with the changes,
its effect on our day-to-day lives is unmistakable. Recent technological developments are vastly changing the
way we live, and in particular, the way we work. With the job market a competitive and ever-evolving arena,
determining your career path is more than just following your passions and skills, it’s about being adaptive
in this digital age and understanding what skills and jobs are in high demand, and which are facing potential
extinction. It’s important to try not to feel disorientated or uncomfortable with these rapid changes, but
instead, change your mindset and embrace the opportunities technology brings and focus on the right skills to
increase your employability and succeed in the new tech-savvy work scene. Although technological
innovation offers many new and exciting opportunities and career paths, there is also the downside of careers
becoming obsolete, leaving people without a job. This is not a recent issue either, we’ve experienced years of
machines replacing muscle power as the routine, autonomous tasks are taken over by technology. With the
internet serving a plethora of information, jobs like the traditional travel agent have been almost wiped out
entirely in favour of online websites that allow us to find the cheapest deals for flights and accommodation
with just a click of a button. We are seeing an increase in ‘self-service’ with grocery store check-outs and
airport check-ins opting for automation over employees. It’s these entry-level and part-time jobs where we
are seeing technological systems making the greatest impact. We’ve also witnessed other societal issues
emerging, such as businesses going bust with technology replacing products. Remember going down to the
local video store to rent a few DVDs? Or when libraries were a place people actually went to rent a book? In
order to keep up to date with the latest trends in IT, businesses are beginning to embrace technology in
recruitment, operations, marketing and production. With new I'T commodities like Netflix, iTunes and
eBooks, products are moving from the tangible to the digital at an alarming rate, causing numerous stores to
go out of business. Newspapers and magazines are struggling to sell copies, with many people preferring to
use their iPhone or tablet to get the latest headlines and gossip. The music industry has also taken a hit, with
the amount of illegal piracy that goes on, resulting in a dramatic decrease in compact disc sales.

However, there are conflicting opinions on this. Study of census results in England and Wales since 1871
finds the rise of machines has been a job creator rather than making working humans obsolete. In the 1800s it
was the Luddites smashing weaving machines. These days retail staff worry about automatic checkouts.
Sooner or later taxi drivers will be fretting over self-driving cars. The battle between man and machines
goes back centuries. Are they taking our jobs? Or are they merely easing our workload? A study by
economists at the consultancy Deloitte seeks to shed new light on the relationship between jobs and the rise
of technology by trawling through census data for England and Wales going back to 1871. Their conclusion
is unremittingly cheerful: rather than destroying jobs, technology has been a “great job-creating machine”.
Findings by Deloitte such as a fourfold rise in bar staff since the 1950s or a surge in the number of
hairdressers this century suggest to the authors that technology has increased spending power, therefore
creating new demand and new jobs. “Machines will take on more repetitive and laborious tasks, but seem no
closer to eliminating the need for human labour than at any time in the last 150 years.”- analysts at Deloitte
conclude.

How can we increase our chances of employability and succeed in this new age?
1. By changing our mindset and embracing new opportunities
2. By changing the way we live
3. By focusing on the right skills
4. Both1and3
5. Both1and2

Que. 2 Which brand/company/organization has not been mentioned in the passage?
1. Netflix
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eBooks
Deloitte
iPhone

None of these

Que. 3 Determine a suitable title for the passage.

1.

2
3.
4.
5

Technology and its Effects
Man and his Relationship to Technology
Technological Innovations in the 21st Century
Technology- Boon or Bane?
The Dark Side of Technology

Que. 4 What is the synonym of 'plethora'?

1.

2
3.
4.
5

Dearth
Growth
Myriad
Destruction

Fruition

Que. 5 What is the antonym of the word 'adaptive'?

1.

2.
3.
4
5

Elementary
Egregious
Flexible
Adoptive
Stubborn

Que. 6 What is the meaning of the emboldened phrase given below?

IS

Sooner or later taxi drivers will be fretting over self-driving cars.
Selling the cars off
Feel anxious or concerned regarding someone on something
Brood over
Both 2 and 3

None of these

Que. 7 Which of the following meanings properly explains the word 'trawling'?

1.

Trawl: to pull a large, cone-shaped net through the sea at a deep level behind
a special boat in order to catch fish

Trawl: move a lawnmower across a green lawn

Trawl: to search among a large number or many
different places in order to find people or information you want

Both 2 and 3
Both 1 and 3
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Que. 8 What is the overall tone of the passage?

I. Optimistic
2. Analytical

3. Acerbic

4. Lampooning
5. Descriptive

Que. 9 Identify the segment of the sentence which contains the grammatical error. If there is no error
mark ‘No error’ as your answer.

When you press (A) the end call button (B) on the phone, (C) the call will disconnect automatically. (D) No
Error (E)

1. A
2. B
3. C
4. D
5.  No error

Que. 10 In the following question, find out which part of the sentence has an error. If the sentence is
grammatically correct, mark your answer as 'No Error'.

My favourite teacher has (A)/ taught me very well how to write and speak English (B)/ and French in a very
short (C) span of time (D) No Error (E)
. A

2. B
3. C
4. D
5. E

Que. 11 Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.
You, I and Ram (A) went to the market (B) the day before yesterday (C)where we bought this pillow (D)/ No
error (E)/

1. A
2. B
3. C
4. D
5. E

Que. 12 In the following sentence, some parts have error and some are correct. Find out which part
has an error and mark it as your answer. If there is no error, mark ‘No error’ as your answer.

After a long wait (A) of almost 68 years, (B) the jury gave their verdict (C) on the Ayodhya feud. (D) No
Error. (E)

I. A

2. B
3. C
4. D
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5.  No error

Que. 13 Identify the segment of the sentence which contains the grammatical error. If there is no
error mark ‘No error’ as your answer.

Even if he loses this match, (A) he will still be getting (B) one more chance (C) to enter the finale. (D)
. A

2. B
3. C
4. D
5. No error

Que. 14 In the following question, out of the five alternatives, select the alternative which will improve
the underlined part of the sentence. In case no improvement is needed, select the ""No
improvement" option.

When the crowd collected round him he seemed confused, but at the demand of the tall lad who had pushed
his way up to him, he began in a fairly too tremulous voice to read the sheet from the beginning.

1. begins in a fairly too tremulous voice
began in a fair too tremulous voice

2

3. began in a rather too tremulous voice
4. begins in a rather too tremulous voice
5

No Improvement

Que. 15 In the following question, out of the four alternatives, select the alternative which will
improve the underlined part of the sentence. In case no improvement is needed, select “No
improvement".

Aeroplanes were seldom if never, allowed to fly at late night during the winters of December and January
due to security reasons and also safety issues at the time of landing.

1. Seldom or ever
2. Seldom if ever

3. Seldom if none

seldom but never

No improvement

Que. 16 In the following question, out of the four alternatives, select the alternative which will
improve the underlined part of the sentence. In case no improvement is needed, select “No
improvement”.

He’s ten years old, but he still solves puzzles and calculates fuzzy logics with neurologists observing that he
has lots of brain activities going on in his mind and all his vitals are extremely fascinating.

1. yet he still solves puzzles
2. buthe still solves puzzles
3. Dbutstill solves puzzles

4.  he still but solves puzzles
5

No improvement
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Que. 17 Pick out the most effective word from the given options to fill in the blanks of the
following question.

Reshma has a very annoying habit of in idle gossip.

Tonight | am myself with a bottle of Champagne.
1. Attracting
Interacting

2

3. Participating
4. Indulging
5

Treating

Que. 18 Pick out the most effective word from the given options to fill in the blanks of the following

sentences.

Her face had a pallor which he noticed immediately on reaching her.
He got a shock on opening the parcel.

1. trivial

2. charming

3. unpleasant

4. il

5. ghastly

Que. 19 Pick out the most effective word from the given options to fill in the blanks of the following

sentences.
He made his camp in the thicket when he was sure that there were sure signs of gorilla in
the surrounding valley.
Humans have always built their close to rivers as it provides easy access to
water.

1. habitation

houses

2

3.  tenure
4. lodging
5

seat

Que. 20 Pick out the most effective word from the given options to fill in the blanks of the following

sentences.

The wood of the nail when dry has a resembling that of sandalwood and is
used for torches in fishing.
The new perfume had a unique that smelled like the first day of spring.

1. Stench

2. Fragrance

3. Perfume

4.  Odour

5. Nose

Que. 21 Pick out the most effective word from the given options to fill in the blanks of the following
sentences.
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a) Her speeches always had the capacity to the flames of patriotism in the minds of the youth.

b) Plastic can easily when exposed to fire.
1. arouse
2. ignite
3. instigate
4. excite
5. burn

Que. 22 Rearrange the following five sentences/group of sentences (A), (B), (C), (D), and (E) in the

them.

proper sequence to form a meaningful paragraph; then answer the questions given below

A. Multi Commodity Exchange of India provides live feeds for all traded commodities and these are
published on various websites.

B. MCX offers options trading in gold and futures trading in non-ferrous metals, bullion, energy, and a
number of agricultural commodities.

C. From 28 September 2015, MCX is being regulated by the Securities and Exchange Board of India (SEBI).
D. Multi Commodity Exchange of India Ltd (MCX) is an independent commodity exchange based in India.

E. MCX was among the top global commodity exchanges in terms of the number of futures contracts trade.

Which of the following should be the SECOND sentence after rearrangement?

wok =

B

C
D
A
E

Que. 23 Which of the following should be the FIRST sentence after rearrangement?

A

A

Mo aw

Que. 24  Which of the following should be the FOURTH sentence after rearrangement?

wok D

A

O @ g w

Que. 25 Which of the following should be the LAST sentence after rearrangement?

1.

2.
3.
4

A

O O w
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Que. 26 Which of the following should be the THIRD sentence after rearrangement?
1. B

m > O O

2
3.
4.
5

Que. 27 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).

These words may or may not be placed in their correct order. Four options with different
arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.

The decreased (A) were desperate (B) for any kind of fish as the quantity (C) of good fish had fishermen
(D) in recent years.

1. D-B
2. C-A
3. C-B
4. A-D
5. No Rearrangement

Que. 28 In each of the questions given below, four words are given in bold. These four words may or
may not be in their correct position. The sentence is then followed by options with the correct
combination of words that should replace each other in order to make the sentence grammatically and
contextually correct. Find the correct combination of words that replace each other. If the sentence is
correct as it is, select ‘5’ as your option.

Countries (A) based on the colour (B) of one's skin is a major problem (C) in India and a lot of
other discrimination. (D)

1. A-B
2. B-C
3. CD
4. D-A
5. No Rearrangement

Que. 29 Directions- In each of the following questions, one phrase has been given and it has been
followed by four sentences. You have to find out in which of these sentences phrase has been
used properly according to its meaning and mark your answer from the options denoted by 1,2,3,4.
Mark 5. As your answer if you find that phrase has been applied properly in all the sentences.

An apple of discord

I. My sister and I had fought over a piece of land causing an apple of discord a few years ago and we haven’t
spoken in since.

II. The "best employee" award has been an apple of discord among the co-workers for quite some time.

III. If I had known that an apple of discord would occur among villagers, I would not have told them about
my new business venture.

IV. Sharing credit for their breakthrough work became an apple of discord between the two research
students.

1. ILIV
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All except III
IV, 1

11, 111

All are correct

Que. 30 Directions- In each of the following questions, one phrase has been given and it has been

followed by four sentences. You have to find out in which of these sentences phrase has been

used properly according to its meaning and mark your answer from the options denoted by 1,2,3,4.
Mark 5. As your answer if you find that phrase has been applied properly in all the sentences.

Bolt from the blue
1. The news of her husband's death in the air crash came to her like a bolt from blue.

II. T do not think hostilities have ever been begun except by something rather approaching a bolt from the

blue.

II1. Developing weapons of mass destruction by North Korea came as a bolt from the blue for the world.

IV. The blue skies were filled with dark clouds, bolts of lightning were seen all over the city.

1.

2
3.
4.
5

LI

LI

All except IV
LIV

All are correct

Que. 31 What approximate value will come in the place of the question mark ‘?” in the following question?

AR

244.99 +4.99 + (40% of 1549.99) = 760 - ?
81
19
91
71
90

Que. 32 What approximate will come in the place of the question mark ‘?” in the following question?

AR A

(32)2 x 127.96 +442.02 =?

510
441
514
500
610

Que. 33 What approximate value will come in the place of the question mark ‘?’ in the following question?

IS

v/74.01 + 43.01 x 4.99 =74.01 -7
101
81
87
91
57
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Que. 34 What approximate will come in the place of the question mark ‘?” in the following question?

M .

244.03 - 654.02 +? +2.01 =835.01
2550
2490
1945
1545
2445

Que. 35 What approximate value will come in the place of the question mark ‘?” in the following question?

nok =

65.01 - \/B12 + 249 = 2 — 240
500
522
546
512
484

Que. 36  What approximate will come in the place of the question mark ‘?” in the following question?

M.

/289 — 15% of 300 = 72— 284
10
32
15
24
16

Que. 37 A invests Rs. 2800 and B invests Rs. 2100 in a business, A withdraws his money after 6 months

while C invested 25% of A's capital after 4 months when A withdraws his money and B invests for

the whole year, if annual profit of is Rs. 930, then find B's share.

1.

2.
3.
4
5

Rs. 540
Rs. 1080
Rs. 800
Rs. 700
Rs. 810

Que. 38 A whole-seller after allowing a successive discount of 20% and 10% on the list price of a product

I

get a profit of Rs. 120. find the cost price of the product, If list price of the product is Rs. 1000.
Rs. 400
Rs. 440
Rs. 600
Rs. 500

None of these

Que. 39 A bag contains four white and six black balls. If three balls are chosen from the bag at random,

then what is the probability that all are white?
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1. 1/10
2. 1/30
3. 1725
4. 120
5.

none of these

Que. 40 A man can row 52 km upstream and 42 km downstream in 10 hours. It is also known that he can
row 66 km downstream and 60 km upstream in 13 hours. Find the speed of the man in still water.

1. 8 km/hr

2. 12 km/hr

3. 6 km/hr

4. 10 km/h

5. none of these

Que.41 A and B completed a work together in 6 days. Had A worked 1/3" of his efficiency and B's
efficiency remains the same, then it would have taken them 10 days to complete the task. How
much time would it take for A alone to complete the work?

1. 15 days
2. 21 days

3. 6days

4. 12 days

5. none of these

Que. 42 Direction: Study the following table and pie chart and answer the following questions.
The following pie chart shows the percentage of chocolates bought by 5 persons

Total number of chocolates = 400
Percentage of chocolates bought

Following table shows the percentage of chocolates sold by all 5 persons from the chocolates they have
bought.
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1005

BO%

60%%

40%

20%

Percentage of sold chocolates by 5 persons
85% 90%
75% 80%
I I I i
A B C D E

Ba Be Wc BMp BE

Find the number of unsold chocolates by A

1.

2
3.
4.
5

15
20
25
18
30

Que. 43  Find the ratio between the number of sold chocolates by B and number of unsold chocolates by C

1.

2
3.
4.
5

112:9
125:6
13:7
117 :53
None of the above

Que. 44 Find the difference between the total number of chocolates sold by A and C together and total

A S e

number of chocolates which remain unsold by B, D and E together.
52
53
58
55
61

Que. 45 The number of chocolates sold by D is what% of the number of chocolates sold by A?

1.

2
3.
4.
5

50%
55%
60%
65%
45%

Que. 46 IfF is a person who bought 16 chocolates more than that of E and have sold 50% more than the

number of chocolates sold by D then, find the difference between the number of chocolates bought
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by F and the number of sold chocolates by F.

1. 42
2. 44
3. 46
4. 40
5. 48

Que. 47 The total number of unsold chocolates by all 5 persons is what% of the total chocolates available?
1. 20.5%

2. 21.75%
3. 22.25%
4. 20.75%
5. 21.25%

Que. 48 In the given question, two equations numbered | and II are given. Solve both the equations and
mark the appropriate answer.

1.3x2+19x+20=0
IL. 6y% + 19y +15=0

I. x>y
2. x<y
3. x>y
4. x<y
5. x =y or the relationship between x and y cannot be established.

Que. 49 In the given question, two equations numbered | and II are given. Solve both the equations and
mark the appropriate answer.

I x% =256
ILy2+ 18y +17=0
X>y
X<y
X2y
X<y

AR S A

x =y or the relationship between x and y cannot be established.

Que. 50 In the given question, two equations numbered 1 and II are given. Solve both the equations and
mark the appropriate answer.

Lx>—15x+56=0
ILy*+17y +72=0

I. x>y
2. x<y
3. x>y
4. x<y
5. x =y or the relationship between x and y cannot be established.
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Que. 51 In the given question, two equations numbered 1 and II are given. Solve both the equations and
mark the appropriate answer.

L4x2+13x+9=0
IL. 4y2 + 20y + 25 =0

I. x>y
2. x<y
3. x>y
4. x<y
5.  x =y or the relationship between x and y cannot be established.

Que. 52 In the given questions, two equations numbered 1 and II are given. You have to solve both the
equations and mark the appropriate answer

Lx2-14x+33=0
L y2 - 20y +99=0

. x<y
2. x>y
3. x<y
4. x>y
5. x =y or the relationship between x and y cannot be established.

Que. 53 In the given question, two equations numbered I and II are given. Solve both the equations and
mark the appropriate answer.

1.3x%>—18x+24=0
IL 5y2 — 50y + 125 =0

. x>y
2. x<y
3. x>y
4. x<y
5.  x =y or the relationship between x and y cannot be established.

Que. 54 Four year ago, the average age of a family of 5 members was 21 years. A baby has born, the
average of the family remains the same today. What is the age of the baby?

1. 2.5 years

2.  2years

3. 1year

4. 1.5 years

5. none of these

Que. 55 The perimeter of a rectangle is 420 m. The length of the rectangle is 30 m more than its breadth.
Find the time taken to cross it diagonally if the rate of speed is 10m/s.

1. 15 seconds
2. 18 seconds

3. 17 seconds
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4. 12 seconds

5. 10 seconds
Que. 56 A man had Rs. 3000 with him. He kept Rs. 250 with him and distributed the rest. The ratio of A

and B was 5 : 6. The ratio of B and C was 3 : 4 and the ratio of C and D was 4 : 3. Find the amount

which C got.

1. Rs. 780

2. Rs. 875

3. Rs. 880

4. Rs.900

5. Rs. 760

Que. 57 What will be the sum on which the rate of interest is 4% per annum for the first 2 yr, 6% per annum

for the next 4 yr and 8% per annum for the period beyond 6 yr. if the simple interest accrued by the

sum for a total period of 9 yr is Rs. 4480?

1. 7200
2. 12400
3. 9220
4. 11800
5. 8000
Que. 58 A 30 m long train crosses a person who is walking at a speed of 8 km/hr in the opposite direction

and passes him in 8 seconds. Subsequently, it crosses a second person, walking in the same

direction as that of the first person, and passes him in 3 seconds. What is the speed of the second person?

1.

2.
3.
4
5

27.5 km/hr
30.5 km/hr
28.5 km/hr
25.5 km/hr
22.5 km/hr

Que. 59 Two Alloys X and Y contain Brass and Aluminum in the ratio 8 : 9 and 1 : 6 respectively. In what

I

ratio should they be mixed so as to have 25% brass?
15:19
3:7
19:36
17:35
35:16

Que. 60 Directions: Read the given table carefully and answer the following questions.

Given table shows the data of number of seats in 5 different buses and the percentage of the seats

filled by passengers. Some values are missing here.

Bus Total number of | Percentage of seats
seats filled
A 40 75%
B 25 84%
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Bus Total number of | Percentage of seats
seats filled
C 50 88%
D # 60%
E # 80%

Note : Total number of seats in Buses D and E together is 65 .

(Total number of vacant seats in all the buses is 40)

The number of vacant seat of bus C is what percent more or less than the number of vacant seat of bus A?

If filled seat of bus E is 3 more than the filled seats of bus B. Find the ratio of vacant seat of buses

If in another bus F, number of filled seats is twice the filled seat of bus A, which is 60% of total

seats in bus F. Then find the difference in vacant seats of buses F and A.

1. 40%
2. 30%
3. 20%
4. 10%
5. 50%
Que. 61
D and E.
I. 3:2
2. 2:3
3. 3:7
4. 2:5
5. 7:3
Que. 62
1. 10
2. 15
3. 25
4. 30
5. 20
Que. 63
buses.
1. 24
2. 26
3. 28
4. 30
5. 32
Que. 64
Bus D.
1. 10
2. 14
3. 16

If the ratio of number of seats of D and E is 7 : 6. Find the average of number of filled seats in all

If number of seats of bus E is 10 less than the seats of bus A. Find the number of vacant seats in
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Que. 65 If number of seats of bus D is 10 more than the seats of bus B. Find the number of vacant seats in
Bus E.

wobk =
e
S

Que. 66 Direction: Read the following information carefully and answer the given questions.

In an organization, there are nine employees, A, B, C, D, E, F, G, H, and I work in three different
departments viz. IT, HR, and Production with at least two employees and not more than three in any
department, but not necessarily in the same order. No two persons with preceding or succeeding alphabetic
series work in the same department. (Example: X and Y or Y and Z do not work in the same department). G
works in the production department but not with D and H. B works in the IT department but not with E and I.
A works in the HR department but not with C and F. Either D or C works along with B. Neither E nor F
works with G.

Which of the following groups of employees work in the Production department?

HBD

ACE

CGI

Data inadequate

nok b=

None of these

Que. 67 Employee H belongs to which department?
1. IT
2. HR
3. Production

4. Data inadequate

5

None of these

Que. 68 Which of the following combinations is correct?

1. IT-1

2. HR-H

3. Production - A
4. IT-C

5. HR-D

Que. 69 Who among the following employees work in the IT department?
1. I

2.
3.
4

T T O
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5. Data inadequate

Que. 70  Which of the following groups of employees work along with employee A?
1. DF

2. 1IC

3. EH

4. HD

5. Data inadequate

Que. 71 Directions: In each of the following questions three statements are given and these statements are
followed by two conclusions numbered I and II. Taking the given statements to be true even if they
seem to be at variance from commonly known facts. Read the conclusions and then decide which of the
given conclusions logically follows from the two given statements:

Statement:

All mango are papaya

No papaya is apple

Some papaya are watermelon
Conclusions:

I. Some apple are mango

II. Some watermelon are not papaya
Only I follows

Only II follows

Both follow

Either I or II follow
None follow

M

Que. 72 Directions: In each of the following questions three statements are given and these statements are
followed by two conclusions numbered I and II. Taking the given statements to be true even if they
seem to be at variance from commonly known facts. Read the conclusions and then decide which of the
given conclusions logically follows from the two given statements:

Statements:

Some phone are laptop

All laptop are tablet

Some tablet are headphone
Conclusions:

I. Some headphone are laptop
II. Some tablet are laptop
Only I follows

Only II follows
Both follow

Either I or II follow
None follows

Al A

Que. 73 Directions: In each of the following questions three statements are given and these statements are
followed by two conclusions numbered I and II. Taking the given statements to be true even if they
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seem to be at variance from commonly known facts. Read the conclusions and then decide which of the
given conclusions logically follows from the two given statements:

Statements:

All Pen are Paper

No Paper is Pencil

Some Pencil are Eraser
Conclusions:

I. Some Eraser are Paper

II. Some Pencil are Paper

1. Only I follows

2. Only II follows

3. Both follow

4. Either I or II follows
5. None follows

Que. 74 Directions: In each of the following questions three statements are given and these statements are
followed by two conclusions numbered I and II. Taking the given statements to be true even if they
seem to be at variance from commonly known facts. Read the conclusions and then decide which of the
given conclusions logically follows from the two given statements:

Statements:

All A are B

Only a few B are C
Some C are D
Conclusions:

I. Some D are not B
II. All C are A

Only I follows
Only II follows
Both follow
Either I or II follow
None follows

M

Que. 75 Directions: In each of the following questions three statements are given and these statements are
followed by two conclusions numbered I and II. Taking the given statements to be true even if they
seem to be at variance from commonly known facts. Read the conclusions and then decide which of the
given conclusions logically follows from the two given statements:

Statements:
Only notepad is book
Some paper is notepad
Conclusions:
I. All book can be paper
II. Some notepad is paper.
1. Only I follows
2. Only II follows
3. Both follow
4. Either I or II follow
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5.  None follow

Que. 76 Direction: Read the following questions carefully and answer the questions that follows:

In a family M is father of S who is unmarried. S and D are sisters.T is married to N who is only
brother of D. B is brother in law of N. R is the only child of N. T does not have any sibling.

How is M related to N?
1. Father in law
2.  Father
3. Uncle

4. Mother in law

5. None of these

Que. 77 How is S related to T?
1. Brother in law
2. Brother
3. Sister
4. Sister in law
5. None of these

Que. 78 How many female members in the family?

1. Two

2.  Three

3. Four

4. Cannot be determined
5.  None of these

Que. 79 Directions: Read the given information carefully and answer the questions asked below.

Eight people A, B, C, D, E, F, G and H are sitting around a square table in such a way that four of
them sit at four corners of the table while four sit in the middle of each of the four sides. People who are
sitting at the corner are facing the centre while people sitting in the middle are facing outside the centre.

A sits second to the right of C. Two people sit between A and E whose immediate neighbours are facing the
centre of the table. G sits opposite to H who sits immediately to the left of F. B is neither a neighbour of A
nor E.

What is the position of C with respect to D?

1. Third to the left

2. Immediate right

3. Second to the right
4.  Third to the right
5. Fourth to the left

Que. 80 What is false regarding F?
1. F is an immediate neighbour of E and H
2. Ffaces A
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3.  F sits third to the left of G
4. F sits second to the right of B
5.  None of these

Que. 81 How many people sit between G and F when counted in an anticlockwise direction from G?
1. Three

2. Two

3. None

4. One

5. More than three

Que. 82 Four among the five are same in some way and thus form a group, which of the following does not
belong to that group?

wnm AW NN~
W > Ta
U g mom

Que. 83 Who sits second to the right of the person who sits opposite to G?
1. A

m O W o

2
3.
4.
5

Que. 84 [ritis possible to make a meaningful word, using the 13 3rd, 9th and 11™ letters of the word
‘AGGREGATION?’, then what is the third letter from the left end of the newly formed word? If no
such word be formed, mark the answer as “Y’. If more than one word can be formed mark the answer as ‘X’.

1. A

X< T O

2
3.
4.
5

Que. 85 Inaword ‘CARBONIZE’, replace each vowel with the next letter in the Alphabetical series and
each consonant with the previous letter in the Alphabetical Series. How many letters occurs more
than once in this newly formed word?

1. 1

2. 2

3. 3

4. More than 3
5. None
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Que. 86 In a given number 8956435251, add one in each even digit and subtract one from each odd digit.

right?
1.

2.
3.
4
5

Now, what will be the multiplication of the second digit from the left and fourth digit from the

32
48
24
56
None of the above

Que. 87 Directions: Read the following information carefully and answer the questions given below:

Few person are sitting in a row facing North. L is sitting third to the right of R. M is sitting fifth to

the left of P, who is an immediate neighbour of Q. S is sitting to the second to the left of H, and is not sitting
at the left of A. A and M are immediate neighbours. I and L are sitting at the extreme ends of the row.
Number of people sitting between Q and M is same as number of people sitting between Q and R. Only three
people are sitting to the left of A. O is sitting third to the left of R. Three people are sitting between O and P.
Two people are sitting between H and M.

How many people are sitting to the left of H?

1.

2
3.
4
5

9
11
7
6
4

Que. 88 How many people are sitting in the row?

1.

2
3.
4.
5

23
24
21
19
20

Que. 89 Which of the following statements is true?

1.

2.
3.
4
5

2 people are sitting between A and M.
3 people are sitting between Q and O.
L is 7 places away from O.
P is sitting seventh to the left of R.
None is true

Que. 90 What is the position of H with respect to I?

1.

2
3.
4.
5

Sixth to the right
Fourth to the right
Seventh to the right
Sixth to the left
Fourth to the left
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Que. 91 How many people are sitting between Q and L?

l. Eight
2. Nine

3. Five

4. Six

5. Four

Que. 92 Directions: Study the following information carefully and answer the questions that follow.
Six jars A, B, C, D, E and F are filled with milk, each having different quantities of milk.

C does not contain the highest quantity of milk. B has less milk than only two jars. F has more than only E. A
has more milk than F but less than B. The second highest and the second lowest containing jars have 33 Itr
and 17 Itr respectively.

Each jar has an odd number of liters of milk in them.

Which jar contains the highest quantity of milk?

1. A
2. C
3. D
4. B
5.  None of the above

Que. 93 If total milk contained by jar C and E is 48, and total milk contained by D and F is 52, what is the
total quantity of milk contained by jar D and E?

1. 46
2. 52
3. 50
4. 48
5. None of the above

Que. 94 What is the possible quantity of milk that is contained by jar A?

1. 11
2. 19
3. 37
4. 13
5. 44

Que. 95 How many pairs of letters are there in the word ‘HANDICRAFT” that have the same number of
letters between them in the word (in both forward and backward directions), as they have in the
English alphabetical series?

1. 1
2. 2
3. 3
4. 4
5.  More than 4
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Que. 96 Direction: Read the following information carefully and answer the given questions.

6 people - A, B, C, D, E and F have their event on either 13th or 20th of three different months
among May, June and July but not necessarily in the same order. All of them having their event in different
cities - Shimla, Shillong, Mussoorie, Punjab, Imphal and Jaipur, but not necessarily in the same order.

F’s event is placed in Mussoorie. A’s event is in even date and in the month having 30 days. Two persons
have their events in between the person whose events are in Shimla and Imphal. E and B have their events in
the same months. C’s event does not take place in June. One person having the event between A and the one
whose event is in Shimla. B’s event is in Shillong. A’s event is not placed in Jaipur. One person has the event
between Imphal and D, and D’s event is before A’s event. E’s event is not in Imphal.

¢ In Which of the following city, A’s event takes place?

1. Shillong
2. Shimla
3.  Punjab
4. Jaipur

5. Imphal

Que. 97 How many people have their event between F and the one whose event is in Shimla?

1. Two
2. Four

3. One

4. Three

5. Five

Que. 98 Four of the five are alike in a certain way, find the one which does not belong to that group.
1. F

> O W

2
3.
4.
5

Que. 99 In a certain way, B is related to Jaipur and A is related to Shimla then in the same way D is related
to whom?

Imphal
Shimla
Punjab

Mussoorie

AR S

Jaipur

Que. 100  On which of the following date D has his event?

1. 20th July
2. 13th June
3. 20th May
4.  13th July
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5. 13th May
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100 Questions

Que.
Que.
Que.
Que.
Que.

Que.

Que.
Que.
Que.

1

2

3

.10

11

.12

.13

.14

.15

16

17

18

.19

.20

.21

.22

.23

.24

.25

.26

Correct Option - 4
Correct Option - 5
Correct Option - 4
Correct Option - 3
Correct Option - 5
Correct Option - 4
Correct Option - 5
Correct Option - 2
Correct Option - 4
Correct Option - 5
Correct Option - 1
Correct Option - 3
Correct Option - 2
Correct Option - 3

Correct Option - 2

Correct Option -_1
Correct Option —_41
Correct Option - 5
Correct Option - 1
Correct Option - 2
Correct Option - 2
Correct Option - 4
Correct Option - 4
Correct Option - 4
Correct Option - 3

Correct Option - 1
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Que.
Que.

Que.

Que.

Que.
Que.
Que.
Que.

27
28

.29

.30

.31

.32

.33

.34

.35

.36

37

.38

.39

.40

.41

.42

.43

.44

.45

46

.47

.48

.49

.50

51

52

53

54

Correct Option - 4
Correct Option - 4
Correct Option - 5
Correct Option - 3
Correct Option - 3
Correct Option - 3
Correct Option - 5
Correct Option - 2
Correct Option - 3
Correct Option - 5
Correct Option - 1
Correct Option - 3
Correct Option - 2
Correct Option - 4
Correct Option - 5
Correct Option - 2

Correct Option - 1

Correct Option —_4
Correct Option -_3_
Correct Option - 1
Correct Option - 5
Correct Option - 5
Correct Option - 5
Correct Option - 1
Correct Option - 1
Correct Option - 5

Correct Option - 2

Correct Option - 3
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Que.
Que.

Que.

Que.

Que.
Que.
Que.
Que.

55
56

.57

.58

.59

. 60

.61

. 62

.63

. 64

65

. 66

.67

. 68

. 69

.70

.71

.72

.73

74

.75

.76

77

.78

79

80

81

82

Correct Option - 1
Correct Option - 3
Correct Option - 5
Correct Option - 2
Correct Option - 4
Correct Option - 1
Correct Option - 5
Correct Option - 4
Correct Option - 3
Correct Option - 2
Correct Option - 1
Correct Option - 3
Correct Option - 2
Correct Option - 2
Correct Option - 3
Correct Option - 3

Correct Option - 5

Correct Option —_2
Correct Option -_5_
Correct Option - 5
Correct Option - 2
Correct Option - 2
Correct Option - 4
Correct Option - 4
Correct Option - 4
Correct Option - 3

Correct Option - 5

Correct Option - 1
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Que.
Que.

Que.

83
84

.85

. 86

.87

.88

.89

.90

.91

.92

93

.94

.95

.96

.97

.98

.99

Correct Option - 2
Correct Option - 3
Correct Option - 1
Correct Option - 1
Correct Option - 3
Correct Option - 5
Correct Option - 4
Correct Option - 3
Correct Option - 1
Correct Option - 3
Correct Option - 3
Correct Option - 2
Correct Option - 5
Correct Option - 3
Correct Option - 4
Correct Option - 5

Correct Option - 1

.100 Correct Option - 2
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